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ny Guided Practice:

Part A- Identify the property that justifies each statement.

AB = AB

If mZ1=ms2 and mZ2=mZ4, then mZ1=mz4

If x =y, theny=x.

If ST=YZ, and YZ = PR, then ST =PR

If KL = PR, then KL-AB = PR — AB

412 =412

fb=aandb=0,thena=0

Figure A = Figure A

If mZDEF =mZABC, then mZDEF + mZGHI =mZABC + mZGHI

10. If x =y, then E.
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11.If AB = CD, then CD = AB
12.1f §=7 ,thenx = 14

13.Ifx=5andb =5, thenx=b
14. If XY — AB = WZ — AB, then XY = WZ
15.f m£ZA=mZB, and m£ZB=m«C,then mZA=m/C

Part B- Use the property to complete the statement.

16. Reflexive Property: _ SEE =SE
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17. Symmetric Property: If pm ZTKL = mZI2ST , then mZRST =mZIKL
18. Transitive Property: mZF=mZJand _ LT = mZ L then mZF=m/L

19. Addition Property: If RS =TU, thenRS+20=_"TWU + 2 O
20. Multiplication Property: If m/1=m/2then 3(ms1)=_3( m /L 2)

21. Substitution Property: Ifa = 20, then 5a=_ 5 (2.0)

Part C- Complete the two-column proofs below using the appropriate properties.

22. Given: x=—;-y—9 23. Given: 5(x —3)=4(x +2)
Prove: y=7x+63 Prove: x =23
Statement Reason
Statement Reason

L s(x-3) =4 (x42) 1. Guan

1. xz_%lﬁ"ol \. 9\"/cr\

2/3X-1S = 4x+D 2 Distibule]

3. Subdmchen R

Add. Prep.

2/ X+ Y3 | 2. Addahek Prip. N
3 (xsa)=y |3 Muld Prop Jx=oz3
. TIx +03 = \/ 4 Distribuhud P
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24. Given: SU=[R, TU=IN Prove: ST =NR s T U
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1.SU=IR,TU=IN 1. Given

250=]R l,'r‘L(:LN

2. Definition of Congruent Segments

3. Segment Addition Postulate

38T +Tlu =S LN +pNR=LR

4. Substitution Property

. ST+TU=LR  TU+NR=LR

5. Substitution Property

5_STHTU= TUFNR

6. ST = N& 6._Subtrecch on P of Equals
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7 ST £ NR 7. 'D;-C of Cdngq__ae,nt_a_

25. Given: Z1 and £2 are supplementary, mZ1=4x, m£2=80°

Prove: mZ1=100° Yx 0
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Statements Reasons

Zlond L2 aGre §u{\la\ a4 L C—‘m}u\
MmZl =Yy and nwn22:=%D

2. mllrr ML2Z = 18D 2. Def.ob Sulp}olmmev&wu
5| 4y + 8D IRO 3. Subshbuhan ’
4. 4x =100 4. Subtvzchor Prepo

5 X=295 5. 'Dl\'/t'Sn/'y\,’Pm.lo.

G.l musl = 4(29 L. Subshbohon

F.| M4l = 1007 +- Slmgou&\\&
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26. Given: Z1 and £2 are vertical angles, m£1=2x+21, m£2=4x

Prove: x=10.5
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Ll and {2 aee Vertical X

1. é\uﬂrv

L)lz2x+2]|  mL2 49X
L E L2 2. Def. of Verlicad LY
mZl = ml2 3. Def.of Cmgnence
2xx2) =4« 4 Subshhebhm
2l = 2% 5. Subibvachad Pop
0.5 = X b. Divisisn Pop.
X=]6s +. S%mme_-t—ﬁcl PP
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